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Q. Cloudy nights are warmer compared to clear cloudless nights, because clouds:
(a) Prevent cold waves from the sky from descending earth

(b) Reflect back the heat given off by earth

(c) Produce heat and radiate it towards earth

(d) Absorb heat from the atmosphere and send it towards earth

¥. Aureoifcd Td T AUrsied Tdh Hr Jorar d 3fQes 73 adr §, =i
dicgel:

(T) ITHAT q 3 i P Wl W 3 F Vb

() g2t gRT NS € FuAT P AU Wrafdd T &

(@) A 3cue=t HY 3R 38 gt Fir AR fahor wY

(E)) AIATEROT | FCAT T ITMYOT FY 37 gt $ir 3R H9a §
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Kiran Kumari 2 days ago

Cloudy nights are warmer compared to clear cloudless nights, because clouds
(b).reflects back the heat given off by the earth.
Thanku 5ir s s's aa s

e GF

VARSHA KUMARI 2 days ago

Option B is correct answer...cloudy nights are warmer compared to clear cloudless
nights , because clouds reflects back the heat given off by the Earth.... &% & & & @

e GF

Reply

Reply

Babita Kumari 2 days ago
Options -(B)......

Reflect back the heat given off by earth.... Thank you so much sir Jy se sasnsn ® &
(M4

e 2 O

Souvik Chand 2 days ago

Ans - (b) reflect back the heat given off by Earth &) € . — is the right option
Thankyouso muchsir . o OISV E & A A

4 ~ T

Reply
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e

Ritika Pravakar 2 days ago

: Cloudy nights are warmer compared to clear cloudless nights, because clouds Reflect
back the heat given off by earth. At night cloud cover has the opposite effect. If skies
are clear, heat emitted from the earth's surface freely escapes into space, resulting in
colder temperatures. However, if clouds are present, some of the heat emitted from the
earth's surface is trapped by the clouds and reemitted back towards the earth.

Show less
ik G

Ritika Pravakar 2 days ago

Reply

The correct option is B reflect back the heat given off by earth.

Cloudy nights are warmer compared to clear cloudless nights, because clouds reflects
back the heat given off by the earth.

e GF

priyanshu kushwaha 2 days ago

Reply

hw- b cloud reflects the heat

e GF
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¥ &

sachin Biradar 2 days ago

Ans B

When sky is clear heat emitted from the earth surface freely escapes into space then
it's colder temperatures

But Cloudy night are warmer because heat reflect back to earth surface.

e’ GF Reply

AL CIVILIAN HUB 2 days ago
Option B is correct sir

ik GF Reply

Seenu ? days ago

B option is correct.
the clouds prevent infrared radiation from escaping into the atmosphere

e’ GF Repy

Annu Singh 2 days ago

optionis B
reflect back the heat given off by earth
e GF Reply

GAGAN Kumar 9 NISHA Sharma € 2 days ago
BAD 0 A0 10 A0 10 A0 10 W0 R A0 A0

e ' GH Reply
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Rupom Gogoi 2 days ago

Option B sir
eGP Reny
Deepak Kumar 2 days ago
B9

e 1 GP Repy
Abhinav Arya 2 days ago
B

e !GP Repy
Raja yadav 2 days ago
BE

eGP Reny
rakesh b 2 days ago
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eGP Reny
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Q. Cloudy nights are warmer compared to clear cloudless nights, because clouds:
(a) Prevent cold waves from the sky from descending earth

(b) Reflect back the heat given off by earth

(c) Produce heat and radiate it towards earth

(d) Absorb heat from the atmosphere and send it towards earth
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Q. In the water cycle, snow and ice get directly converted into vapours. This
process is called:

(a) evaporation

(b) sublimation

(c) boiling

(d) transpiration [SSC JE 2021]

g I I # RH 3R R Y aog F aRafda @ sa €1 39 ufthar & &
SATT &:

(T) arediepIoT

() 3=a I Hr fohaT

(&) STl

(3) arsuIcHol [TETEdT SE 2021]
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Q. In the water cycle, snow and ice get directly converted into vapours. This
process is called:

(a) evaporation

(b) sublimation
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(d) transpiration [SSC JE 2021]
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Q. Which of the following is NOT advisable as a process of separation of
components of a mixture?

(a) Sedimentation

(b) Winnowing

(c) Filtration

(d) Decantation [SSC JE 2021]

U. AT & °gehl B AT e hr UfhAr & U & Aafaf@a & @ @l @
GG R
(T) g
CHEEIGEI
(&) ATaea
CORGESIEW [Taoadr S5 2021]
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Q. Which of the following is NOT advisable as a process of separation of
components of a mixture?

(a) Sedimentation

(b) Winnowing(Winnowing is a process by which chaff is separated from grain)

(c) Filtration

(d) Decantation [SSC JE 2021]

U. AT & °gehl B AT e hr UfhAr & U & Aafaf@a & @ @l @
GG R
(T) g
CHEEIGEI
(&) ATaea
CORGESIEW [Taoadr S5 2021]
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Q. Dermatitis is a symptom of a disease caused by the deficiency of?

(a) vitamins

(b) iron

(c) fat

(d) potassium [SSCJE 2021]

¥, cadnreiy (SHcrsfed) fhadr ol (3qUIdn) & HROT g drell AR & Th
SI&ToT §?

(@) Taerfdey

(<) <iE

(HY) T

(&) fATgA [THTEEr 315 2021]
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Q. Dermatitis is a symptom of a disease caused by the deficiency of?

(a) vitamins(B3)

(b) iron

(c) fat

(d) potassium [SSCJE 2021]

¥, cadnreiy (SHcrsfed) fhadr ol (3qUIdn) & HROT g drell AR & Th
SI&ToT §?

(@) Taerfdey

(<) <iE

(HY) T

(&) fATgA [THTEEr 315 2021]
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Q. If the distance between two objects increases three-fold, then the gravitational
force of attraction between them

(a) becomes one-third of the original

(b) increases nine times

(c) increases three times

(d) becomes one-ninth of the original [SSC JE 2021]

U. Ifg & a&g3Ht & @ A gl A I 9 FAIr &, ol Seleh A= AT A
IecATHYUT el e Srar &l

(T) A &1 T fAgs & S &

(&) At T I ST ®

(¥) NI AT 9 ST ®

(3N) HA BT Th-Alel & AT § [cHTEAr 51 2021]
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Q. If the distance between two objects increases three-fold, then the gravitational
force of attraction between them

(a) becomes one-third of the original
(b) increases nine times
(c) increases three times

(d) becomes one-ninth of the original [SSC JE 2021}

U. Ifg & a&g3Ht & @ A gl A I 9 FAIr &, ol Seleh A= AT A
IecATHYUT el 8 ST §l

(T) AA P T fAeS & Sar &

(&) St I 9 ST ©

(&) N T 98 ST ®

(EN) HA BT Th-Alal & ST § [caTEHr 95 2021]
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Q. The chemical symbol of Molybdenum is
(a) Mb
(b) Mo
(c) My
(d) Md [SSCJE 2021]

q. Afcesad &1 TaaAe Udie ol

(T) THET

() A

(&) AR

(&) THAS [THTEEY o5 2021]
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Q. The chemical symbol of Molybdenum is
(a) Mb
(b) Mo
(c) My
(d) Md [SSCJE 2021]

q. Afoesdd &1 Ta—Ae Udid =y

(T) TH

(dr) A

(&) AR

(31) THS [THTE 9 2021]
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Q. are known as powerhouses of the cell, as they are involved in
releasing energy from food.

(a) Lysosomes

(b) Plastids

(c) Mitochondria

(d) Vacuoles [SSC JE 2021]

Pl T & UlaT F3H &b & H ST ST &, FAifer d Aot A
m‘ramaﬂ?rafrer@srm%l

(T) wilcad

CIRZITES:]

(&) Aoz

@) Ripere [Taoadr S5 2021]
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Q. are known as powerhouses of the cell, as they are involved in
releasing energy from food.

(a) Lysosomes

(b) Plastids

(c) Mitochondria

(d) Vacuoles [SSC JE 2021]

Pl T & UlaT F3H &b & H ST ST &, FAifer d Aot A
m‘ramaﬂ?rafrer@srm%l

(T) wilcad

CIRZITES:]

(&) Aoz

@) Ripere [Taoadr S5 2021]
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Q. ‘Mangiferaindica’ is the scientific name of
(a) mango

(b) pineapple

(c) banana

(d) papaya [SSCJE 2021]

q. ‘AT &1 defae a9 g

(T) A

CHKIGIGE;]

(¥T) el

(&) gdrar [THTEET 318 2021]
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Q. ‘Mangiferaindica’ is the scientific name of
(a) mango

(b) pineapple

(c) banana

(d) papaya [SSCJE 2021]
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Q. Which of the following is a chemical change?

(a) Expansion of substance of heating

(b) Boiling of milk

(c¢) Crushing of a can

(d) Burning of wood [SSCJE 2021]

. Aeafaf@a 3 ¥ dla a1 taaas aRade &7

(T) §féar & yerd o1 AR

() g BT S

(&Y) Tep b HY piAe

(1) BT BT AT [cHTEAT 9% 2021]
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Q. Which of the following is a chemical change?

(a) Expansion of substance of heating

(b) Boiling of milk

(c¢) Crushing of a can

(d) Burning of wood [SSC JE 2021]
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Q. In which year did scientists discover the virus that causes AIDS?

(a) 1989

(b) 1992

(c) 1965

(d) 1983 [SSCJE 2021]

U. e a¥ i d=nfast o wsdH Uer A arel fawo] 6 @ier fir Are
(T) 1989
(fr) 1992
(HY) 1965

(31) 1983 [THTEET 318 2021]
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Q. In which year did scientists discover the virus that causes AIDS?

(a) 1989
(b) 1992
(c) 1965
(d) 1983 (In 1983, Luc Montagnier's team at the Pasteur Institute in Paris
discovered HIV-1.) [SSC JE 2021]

U. fha a¥ 3 demfae F TgH Uer A drel fawr] dr @i dr Ar?

(T) 1989

() 1992

(HY) 1965

(3r) 1983 [caTEdt 3% 2021]
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Q. The disease ‘Myopia’ is also known as:

(a) far-sightedness

(b) near-sightedness

(c) presbyopia

(d) astigmatism [SSCJE 2021]

. 9T "FARNTUAT A 39 ®T H i AT AT ©:

(T) IGRYar

CRGEIAL

(&) g

@) sRav [THTEEY o5 2021]
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Q. The disease ‘Myopia’ is also known as:

(a) far-sightedness
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Q. The Nobel Prize in Physiology or Medicine 2020 was awarded jointly to Harvey ] Alter,
Michael Houghton and Charles M Rice for:

(a) discovery of Hepatitis C virus

(b) discovery of molecular mechanisms controlling the circadian rhythm

(c) determining how cells sense and adapt to oxygen availability

(d) cancer therapy by inhibition of negative immune regulation [SSCJE 2021]

u. ffoaersh ar AR 2020 A AT REPR WFF T § od A 3Hiecl, ABDA
gee 3R ared uH UsH & e

(v) gUesfed d@f arRy & ga

() ThEIa o B ARG A arer 3moifds a7 Hr @S

(@) g ARG Fr & PRFT s Hr sudear ® FE FASG § 3N

IR BN &
@) FeRIcAS ufawe RAffgaa & By grr Fax Rfeaar [TaTEdT 3% 2021]
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Q. The Nobel Prize in Physiology or Medicine 2020 was awarded jointly to Harvey ] Alter,
Michael Houghton and Charles M Rice for:

(a) discovery of Hepatitis C virus

(b) discovery of molecular mechanisms controlling the circadian rhythm

(c) determining how cells sense and adapt to oxygen availability

(d) cancer therapy by inhibition of negative immune regulation [SSCJE 2021]
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Q. Which causative agent is responsible for spreading AIDS?
(a) Virus

(b) Protozoa

(c) Bacteria

(d) Fungus [SSCJE 2021]

7. TsH thelld & foT Pl AT HRS Toic fAFAGR &2

(31) wash [cauEd 9 2021]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which causative agent is responsible for spreading AIDS?
(a) Virus

(b) Protozoa

(c) Bacteria

(d) Fungus [SSCJE 2021]

7. TsH thelld & foT Pl AT HRS Toic fAFAGR &2

(31) wash [cauEd 9 2021]
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Q. Hammer, anvil, stirrup are all part of human'’s
(a) heart

(b) stomach

(c) ear

(d) nose [SSCJE 2021]

. g2dler, RS, e (R, tafd, ) 9 AT & & T §

(V) g

(&) ATHTA

(HY) I

(2) TP [THTEdt 9% 2021]
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Q. Hammer, anvil, stirrup are all part of human'’s
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Q. Seawater is a rich source of which of the following chemical elements?

(a) Hydrogen sulphide

(b) Hydrogen peroxide

(c) Bromine

(d) Cadmium [SSCJE 2021]

U. 995 Id fAFfafad d 4 e Tarfae dca &1 39 aid &7

(T) TSI HoHISS

CUREEEGR ECIES

(&) A=

) eI [THTEdt 9% 2021]
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Q. Seawater is a rich source of which of the following chemical elements?

(a) Hydrogen sulphide

(b) Hydrogen peroxide

(c) Bromine

(d) Cadmium [SSCJE 2021]
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Q. Density of the material of a substance is its mass divided by
(a) surface area

(b) volume

(c) specific gravity

(d) square of surface area [SSCJE 2021]

q. frdY uerd i et 1 gdca 38% gIHATT B o g
fopar ST

(T) |de &9

() AT

(&) T oca

(&) TdE & BT gol [cauEdt 38 2021]
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Q. Density of the material of a substance is its mass divided by
(a) surface area

(b) volume

(c) specific gravity

(d) square of surface area [SSCJE 2021]
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Who among the following developed the smallpox vaccine?
(a) Alexander Fleming
(b) Albert Einstein

(c) Edward Jenner
(d) Louis Pasteur [SSCJE 2021]

u. Qeafei@a # 9 faa dgs o1 dar Aefaa fhar?

(T) 3TeldFoisy FelfHT

() 3ede B

(HY) Tsas AN

(3Y) o U [TguEdr SF 2021]
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Q. Who among the following developed the smallpox vaccine?
(a) Alexander Fleming
(b) Albert Einstein

(c) Edward Jenner
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Q. A device G.M counter is used for the measurement of which of the following?
(a) Speed of air

(b) Mass number

(c) Radioactivity

(d) Valence

q. Raei@ad # O fradr A9 & 6T T SURUT G.M PI3e T SuAer fopar
ST §7

(T) a1 $r afq

() gcTATA F&dT

(&) IIrafdar

&) JeiT
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Q. What is the chemical symbol of Cobalt?
(a) C1

(b) Co

(c) Ca

(d) K

. hldlec &l AR Ui T §7?
(@) Cl
(&) Co
(H) Ca
(BNK

Adda

e
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Q. Fe, 03 + 2Al - Al,05 + 2Fe

The above reaction is an example of
(a) Combination reaction

(b) Double displacement reaction
(c) Decomposition reaction

(d) Displacement reaction

. Fe,0; + 2Al - Al,0; + 2Fe

SURIh gfafear &I Th 3EIeI0T o
(T) AT gfafehar

CHESGREL I GRIGIEEI

(@Y) ugea ufafehar

CORCL NG RIGIET ]

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Fe, 03 + 2Al - Al,05 + 2Fe

The above reaction is an example of
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Q. What is the maximum number of electrons that the outermost shell can have?
(a) 2

(b) 6

(c)8

(d) None of these

. TEIdH DI H Solaeial r TAhdd TEAT Thdell & Fhdr &7
(T) 2
() 6
(&) 8

() 5T q P A
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Q. Which of the following statement(s) is/are CORRECT?
I. Carbon compounds linked by only single bond are called saturated compounds.
II. Carbon compounds having double or triple bonds are called unsaturated

compounds.

III. Saturated carbon compounds are more reactive than unsaturated carbon
compounds.

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

g. Aeafef@a & @ o9 /a8 $a9 & §/87

.. I TH U A 3 FE FifAdt d dqm dfAe w1 S g

Il. Qe 1T AW U g Il Fifpt dr 3rEgE FiAE Her siar B

Il §IE Hre AfAd 3ga Fea FifPet Hf gear d 3w gfafeanie g €
(T) dad 13T 1 () Paer 138 m

(&) Paer 13- En g L, u3kk



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following statement(s) is/are CORRECT?
I. Carbon compounds linked by only single bond are called saturated compounds.
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III. Saturated carbon compounds are more reactive than unsaturated carbon
compounds.
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Q. What is the process of melting also called?
(a) Fusion

(b) Galvanisation

(c) Crystallisation

(d) Evaporation

. ITSTer Y URFAT T T Fed §?
(T) Yol

CEIGGIESEG

(&) Toreeeliaor

(37) arsdieIoT
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